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Spl. 2020
POWER SYSTEM-II
frafia o . dA W) [Frftrean 37 : 70
Time allowed : Three Hours] [Maximum Marks : 70

Pz () ¥YH Y AT 8, vy 7 @ 5T 9 & Ik Gl |

Note : Question No. 1 is compulsory, answer any FOUR questions from the remaining.

(ii)  SF 5§ F G T 1 FHAR T T E Bl |
Solve all parts of a question consecutively together.
(iii)  FF 5 ) 79 98 & I i |
Start each question on fresh page.

(iv) ﬁﬂwﬁﬁmgﬁaﬁ@ﬁﬁmwﬁm? /
Only English version is valid in case of difference in both the languages.

1. (1) WG Y S e deed! @

(a) 1500 f . (b) 765 TwaN
(c) 400 f®.at @ 220fs.an
Highest voltage used in India for transmission

(@) 1500kV (b) 765kV
(c) 400kV (d) 220kV

) %meﬁﬁ@mwawwm,mmﬁmmﬁ

YT AT T S T I B

2 2
@ et O 2084 © Gag @ cos ®

Ratio of volume of copper required in DC - 2 wired system when earthened and
1¢, 2 wire, AC system is

2 2
(2) %008"'4) ® 2c08¢ © oo @ QS;Ii

(10f8) P.T.O.
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(3) = diced] G T A B
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(a) STeAh i &=d Bl & | (b) THdT SR |

(c) faveumaaea | (d) I &t
Advantage of high voltage transmission is

(a) saving of conductor (b) increases efficiency
(¢) reduces voltage drop (d) All above

e o & & ft Sieear i ° o dieea T8 @ ?

(a 11f®H.a () 33fwan

(c) 44fwan d) 66 %

Which one of the following is not standard voltage in India ?
(@ 11kV (b) 33kV

(c) 44kV (d) 66kV

fepam w=or & F1 fqemm war @ 2

(a) wieg (b) S

(c) s (d) TS e

What is present in DC transmission ?

(a) Resistance (b) Inductance

(c) Capacitance (d) Skin effect

AAC &1 379 2

(a) UMWY TEE IS (b) e vefafam ares
(c) 3T ueTig 9Tt (d) 390 ° d HIE &
AAC stands for

(a)  Aluminium Alloy Conductor (b) All Aluminium Conductor
(c) All Alloy Conductor (d) None of above

AHE & YR B! 1= § Sgaia s o § wer fe s 2
(a) w™fee srfae (b) @ ATEE

(c) TTEHHT 3Hige (d) ToraEmse 3rfga
Wooden pole is erected on ground after treatment from following :
(a) Mobil oil (b) Edible oil

(c) Transformer oil (d) Creosite oil
a0 S | v gard 9t e gy w1 39 B 2

(a) TR (b) e gwR

(¢) Froafeaa yer (d) fapha wr

In transmission line at angle turning following insulator is used
(a) pintype (b) shackle type

(¢) suspension type (d) strain type
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Freifeaa gusi 6t T W 3rEHE dieear @ 1 SR
(a) IAuR i Afasbea (b) TEIT=HUT
() ¥R (d) qHH

Cause of non-uniform distribution of voltage across string of suspension type
insulator is

(a) closeness of support (b) transposition
(¢) ground wire (d) temperature
220 5 41, i gymil @<t § St H we

(@ 5 (b) 10

(c) 11 (d) 20

Number of disc in 220 kV insulator string are

(@ 5 (b) 10

() 11 (d) 20

A<t garan fondt et 2

(a) 3hrE 3H 6 TR W (b) s M W
(c) aTiEr et uT (d) 39U ot
String efficiency depends on

(a) length of cross arm (b) static shielding

(c) grading of capacitance (d) All of the above
HET0T 13 1 STeieh! 1 Y&V JATE94 B, Fifh 364
(a) TS BT HH B R | (b) WA dreear Hgferd gl 2 |
(c) THIUAT IHTE HH BiaT 2 | (d) i INEIFAEAR |

Transposition of conductor in transmission line is required, because it

(a) reduces the line loss (b) balances the line voltage
(c) reduces corona effect (d) reduces skin effect

Y TE0T 13 ht o 4 fre Sdier @ smemT R gd |

(a) I YHA (b) < iEn

(c) wTEH Sy (d) e gt

For calculation of short transmission line following parameter is neglected :
(a) line inductance (b) line capacitance

(c) line resistance (d) line losses

FET T3 & e e W R T a2

(a) HTeTs T HR (b) E™isFTIR

(c) A% &1 ufauy (d) dm9EH

Sag of transmission line does not depends on following :

(a) weight of conductor (b) distance between supports
(c) resistance of conductor (d) temperature

P.T.O.
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HreTo ST § vt ST W &N afe WR Wit OTh B
(a) UHH (b) o=
(c) Tt d A
Power loss in transmission line will be less if load power factor is
(a) unity (b) laging
(¢) leading (d) zero
oo T & T el 6 e 6 o % ol wdh g R
W2 W22
(@ S= 8T (b) 8T
WT 2
© S=30 @ =
Formula for calculation of sag for same level of support in transmission line is
WL2 W22
() B="gT ® T
WT 8L2
© S=312 @ wt
(17) Frereor @ire 1 Tt feR R e o R E AR AR | TR A ST A AR
(a) R SHE (b) T owE
(c) ST I9E (d) afere wE

(19)

Voltage at receiving end increases in comparison of sending end in transmission
line. This happens because of

(a) Corona effect (b)  Skin effect
(c) Ferranti effect (d) Proximity effect
(18) e faraees # Frram dreedn &0t «
(a) Torawor 3uehg @ (b) foraws & R w
(¢ faawwaafagm (d) 39 U B HE TE
Minimum voltage in radial distributor will be at
(a) distribution sub-station (b) end of distributor
(c) middle of distributor (d) None of above
S T AT <l TS Bl 8
(a) 80fwdl % (b) 80 fem.ft. & 120 fob.H1. 7

© 120Ffef @200f% .76 (@) 200 .. & afs
Length of small transmission line is

(a) upto 80 km (b) 80 kmto 120 km
(¢) 120 km to 200 km (d) more than 200 km
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(50f8)
(20) For & Rawor somedt tferes fereareedia 2, Fifen zam Iu R T @
(2) TS Hl GG HAHR (b) @ 3rfres s Hia
() IHHRYUM (@) = 9Ram
Ring main distribution system is more reliable because this uses
(a) large size conductor (b) two or more supply source
(¢c) high load current (d) low load current
yftrTa hfae | enrfere 1 % ford i @ vere Iue 7 forn S @ 7
(a) WX (b) TH
(c) drEm d =
Which material is used for sheaths of underground cables ?
(a) Rubber (b) Copper
(¢) Lead (d) Steel
(22) TTE Hise H WHC: feregerresh yerel < foram i B
(a) @R e (b)
() W (d) Ul et
The insulating material commonly used for power cables is
(a) Impregnated paper (b) P.V.C.
(c) Rubber (d) All of above
(23) Ieviree R & e R e 1 g3 AT sheeral 8
(@) E (b) Tora®
(c) ufd|a= (d) THIBETE
The conductor connecting consumer terminal to the distributor is called
(a) feeder (b) distributor
(c) service mains (d) none of these

(24) Fadl 1 GHFIG: 3T 9 oY &

(a) Torgatiem ws= (b) =g i@ ey

(c) o ufmy g (d) STw et

The faults normally occurring in cables are

(a) breakdown of insulation (b) short circuit fault

(¢) open circuit fault (d) Allofabove
(25) e T Rif & F 4 O we R ST g 2

(a) TAHS! I Gl (b) H3hIE HI GHET

(c) TS @ (d) FHIARE A

Derric pole method is used to erect

(a) wooden pole (b) concrete pole

(c) tubular pole (d) none of above

1009
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(26) Faet § G TR Bt B

(a) dieear & 90° JuH (b) dreear & 90° qraTHl
(c) dreeardo° (d) ITUH A & FIE TE
The charging current drawn by the cable

(a) leads the voltage by 90° (b) lags the voltage by 90°

(c) at0°with voltage (d) none of above

(27) Foret o1 0 0 et wuTE R 1w 2
(a) dreed (b) e o TS
(c) =T (d) g
Skin effect can be reduced by reducing following :
(a) voltage (b) length of conductor
(c) current (d) frequency

(28)

(29)

W%@ﬁm%mﬂuﬁm%m%ﬁmmwmaﬁq
(a) Teffadcem®1+20% (b) Faifa e 1+ 10%
(c) Truffta deea &1 + 6% () faffa aeea #1 + 2%

As per Indian Electricity Rule, voltage fluctuations at the domestic consumer
premise must be

(a) +20% of rated voltage (b) + 10% of rated voltage

(¢) +6% ofrated voltage (d) + 2% of rated voltage
AC feraor # dieear aTd 1 ged HRY 2

(a) wicRie g Wb (b) wfeg g giftn

(c) Uthca g wiftar (d) e, SRehed 3 9T

Voltage drop in AC distribution is mainly due to
(a) Resistance and inductance (b) Resistance and capacitance
(¢c) Inductance and capacitance (d) Resistance, inductance and capacitance

(30) W%ﬁﬁﬁ,gﬂ?ﬁmwmﬁ\ﬁm%

(a) dreedl W (b) HW

(c) Tk T[T T (d) IEaw

The size of conductor, used in underground cable depends on
(a) Voltage (b) Current

(¢) Power factor (d) Frequency (1x30)
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3= Sieear Gu & oy fafed |
Write advantages of high voltage transmission.
s =Teres Terd < 1o fafed |

Write qualities of good conductor material.
Rt e % e faarg o e %y ffed |

Write effect of sag on overhead line conductor configuration.

mifdn % @ fafed |

Write advantages of guarding.

St § Faad & o fafed |

Write advantages of cable armouring. (2x5)
fapaT FOT 6 T d I S |

Explain advantages and disadvantages of DC transmission. (5
e fepuT-2 AR 9 fEHRI-3 AT Soet § qis & SR &1 qer it |

Compare volume of copper in DC - 2 wired and DC — 3 wired system. (5)

<t eaal B THIRA | e eET 3 = B & ol forfid |

Explain string efficiency. Write causes of low string efficiency. &)
wﬂfﬁqﬁaﬁaﬁgﬂfmﬁﬁmm@%maﬁmmﬁﬁﬁ SIS
dreedr 33 kV 2 | el et Y T qu R o % weA it 1 ST
1:0.11%1

Determine the voltage across each unit of string of suspension insulator of three
similar unit. Line voltage is 33 kV. The ratio of the capacitance of each unit and
capacitance between pin to earthis 1:0.11. )

sﬁaa@maﬁq%maﬂmm%ﬁ@ﬁ lmwﬁﬁaﬁaﬁ—ﬁmm
w i s g ?

Write effect on tensile force of line when sag is increased. On what factors sag of
transmission line depends ? (5)

Wwﬁmam&%maﬁmﬁamﬁ@maﬁaﬁmﬁmm
¥ =i H T HiR |

Derive the formula for calculation of maximum sag in level support considering
effect of wind and ice in transmission line. 5

P.T.O.
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6. () mmmw%mmmnﬁﬁ%mﬁml

Find generealised circuit parameters of a medium transmission line by m method. (5)
(ii) T AT ST TR0l ST T BV FHTE i FHSTE |

Classify transmission lines and explain Ferranti effect. (5

7. () U R B i guw w9 & wiita faates § diegar urd w1 s S Hif |

Derive the expression for the voltage drop for a uniformly loaded distributor.  (5)
(i) ferTa et ! fasm i fafmt g |

Explain methods of laying underground cables. )

8. (i) YR 9 AT ar i o 6 faftr fafe

Write method of errection of conductor wire on support. (5)
(i) YferTa e & o 9 gt fafad |
Write advantages and disadvantages of underground cables. (5)

9. f w g feooft fafied
Write short notes on the following :
(i) Heel &1 shHEEA
Grading of cables )]
(i) =
Stringing chart S)




